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QUESTION 1. (30 points) Given At =
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l,
- {-q +3
6 -
7

(i) Find the third row of (BA4)~!

=1 4

DRI ﬁ

(i) Find the (1, 3)- emryb A
shrow of 7 )< 2l colomm o [ A*‘~« ——
o=
- (- 'zxm (M) D

,.’l -QJX O

[




2 Ayman Badawi

(v) Find the matrix A
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QUESTION 2. (12 points) Let D = [ -4 ’2 *2 2 L/O/O
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QUESTION 3. (30 points) Let A be a 4 x 4 matrix. Given
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(i) Find det(A).
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QUESTION 4. (12 points) (b) Find a 2 x 2 matrix A such that A {6 7} +3L =24+ [3 2}
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QUESTION 5. (16 points) Solve the following systemy:- - é{ ‘
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